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Abstract

This article is based on the concept of Shape of numbers, introduce more
shapes, obtain the calculation formulas and find an explanation of the for-
mulas. By observing and associating, show a law about the symmetry of Ring.
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1. Introduction

Peng, J. introduced the definition of Shape of numbers in [1]:

(Kl’KZ""’KM)’Ki S N’Kl< KZ < L KM

there are M-1 intervals between adjacent numbers. Use A for continuity and
B for discontinuity, record as a string of M-1 characters (e.g. AABB...) to
represents a catalog.

Define collection of a catalog as Shape of numbers. Use the symbol PX to
represent a catelog (if M= 1 then PX=1).

The single (K;,K,,---,K,,) is an Item, K,K,---K,, is the product of an
item.

For example:

(1L2,4),(1,2,8),(2,3,6) e PX = AB, (13,5),(1,3,6),(2,4,6) PX = BB,
(1L2,5,6),(2,3,6,7),(2,3,7,8),(1002,1003,6789,6790) € PX = ABA

PM (PX) = Count of numbers of PX, PA(PX) = Count of A, PB(PX)
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= Count of B
— PM (PX): PA(PX)+ PB(PX)+1

|PX| = Count of items belonging to PX
MIN (PX) = Minimum product of PX: MIN (AA)=1x2x3,
MIN (AB)=1x2x4
IDX (PX)=2+PA(PX)+2xPB(PX)=PM (PX)+PB(PX)+1:
IDX (AA)=4, IDX(AB)=5
SUM (N,PX) = Sum of all product of items belonging to PXin [1, N —1]
For example: SUM (6, AB)=1x2x4+1x2x5+2x3x5
END(N,PX) = Set of items belonging to PX with the maximum factor =
N-1
For example: END(6,B)= {(1,5),(2,5),(3,5)}

[1] obtain the conclusion:

[1terns in SUM (N,PX)|:[N -PM (PX)j_[N —IDX (PX )+ PB(PX)+1J W

PB(PX)+1 | PB(PX)+1

SUM(N,PX)zMIN(PX)[ 2)

N
IDX (PX )]
Definition: Subdividethe (K, K,,---,K,,) by interval of adjacent num-
bers. If the discontinuity interval is D > 1, the interval of adjacent numbers
2 Dis classified into a same catelog. Use the symbol PY represent a catelog
and represented by [min item]

For example:
PY = [1,3] , (1,3),(1,4),(2,4),(1,5),(2,5),(3,5) € PY . Same as PX= B
PY :[1,4] , (1,4),(1,5),(2,5),(1,6),(2,6),(3,6) e PY, (3,5),(4,6)% PY
PY :[1,4,6], (1,4,7),(1,5,7),(2,5,7) e PY, (3,5,7)§E PY

Redefinition: PB(PY) = Count of discontinuity intervals in PY, compati-
ble with PX

Redefinition: IDX(PY) = The maximum factor of MIN(PY) + 1, compati-
ble with PX

Definition: BASE(PY) = PX, If PB(PX) = PB(PY), PM(PX) = PM(PY), PX
has discontinuity intervals at the same positions of PY.

For example:

PY =[1,3].[1.4],[LK > 2]; BASE(PY)=[13]=B
PY =[1,3,4],[14,5],[LK >2,X =K +1]; BASE(PY)=[134]=BA

PY =[1,3,5],[1.4,9],[LK >2,X > K +1]; BASE(PY)=[1,3,5]=BB
Definition: if f(n)=ZKi(N_nij,then le(n)zz&(N_n‘ _1j
m, m -1
Definition: PH(PY)=IDX(PY)-PB(PY)-2 = Maximum factor of
MIN (PY)-PB(PY)-1
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PY =[LK, Ky ], BS=BASE(PY)=[LG,--G,] >
PH (PY)=K,, - IDX (BS)+PM (BS) (1.0)

[Proof]
PH(PY)=K, —PB(PY)-1=K, —PB(BS)-1=K,, -G, +M
=K, —(Gy +1)+(M +1) = Right

R PR RO (3 I
[Proof]
TS (L E] Ll TS o L
Nt n-K+1 N[ N—-K
=2 (M +1)( M +1 J+(K_1)Z”K[ M j
ool
SR I LR (g T g

By definition:

SUM (N,PY)=3"" S END(n,PY) (1.2)

Derived from (1.2)

D> END(N,PY)=D'SUM (N,PY) (1.3)
By definition:

SUM (N, [1,+, K, K +1]) =Y\ 'nx Y END(n,[1,-++,K]) (1.4)
SUM (N, [1,+,K, X >K+1])= 3" 'nxSUM (n— X +K +1,[1,--,K]) (1.5)
According to the method in [1]:

Items in SUM (N,PY)|:[N —IDX (PY)+ PB(PY)+1J

PB(PY)+1
(1.6)
_(N-PH (PY ) -1
| PB(PY)+1 )
compatible with (1).
2. Calculation Formula
If PY =BASE(PY), the calculation formula has been given by (2).
Otherwise, it can be deduced from (1.1)-(1.5).
N-K+2 N-K+2
SUM(N,[l,K23]):3[ . ]+K( S j 2.1)
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[Proof]
Left—2>3" > END(n,[LK]) =3, (n-1)(1+2++(n-K))

n=K+1
n-K+1

=Y aln ‘1)( ) j =Y ”[n B }; ’ ZJ% Right

(2.2)

N-K+3 N-K+3
SUM(N,[1,2,K>3])=2x4( 5 j+2><K( J

[Proof]
—12 3 nxSUM (n-K +3,[1,2])

_ n-K+3
i>Z:‘_Oln><2[ 3 jl'—1)>Right

SUM (N,[LK =3, X =K +1])

N-X+2 N-X+2
=12 +3(X +1) (2.3)
5 4
N-X+2 N-X+2
+3K + KX
4 3
%2:_01”XD{3(n_E+2]+K[n_§+2ﬂ
~ n-K+1 n-K+1
:Z“_Olan i j+K( * Hl_n>
n= 3 2
N-K+1 N-K+1 N-K+1
=12 +3(K+2) +3K
N-K+1
+K(K+1) 2

= Right

[Proof]

SUM (N,[LK =23, X > K +1])
N-X+3 N-X+3

:15{ j+3(x +1)( j (2.4)

6 5
(N—X+3j [N—X+3J
+4K +KX
5 4
[Proof]

T i e [

2.1. SUM(N,[1,K, 23,-,Ky,])

PY =[LK,>3,-,K, ], BASE(PY)=BS=[LG,,,G,]

1) SUM(N,PY):ZA[J], 2" items in total.
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2) M, = IDX (BS), IDX (BS)~1,---, IDX (BS)~M
39 P=N-PH(PY)
Use the form (G, +K,)(G, +K,)--<(Gy +Ky, ) =D X, X, - X}, . The expan-
sion function has 2" items in total.
4*) M, = IDX (BS)—(Count of X € K)
5) A=[TL(X+D),
-m, X; € G,m = count of {X }eK 5.1%)

} eG 5.2%

i Xig
" [#m, X; e K,m=count of {X;--- X

[Proof]
PY =[1, K, 23,---,KM], BS = BASE(PY)

P
Suppose SUM (N,PY)=>"X,---X,, (M j, P=N-PH(PY).

According to inductive hypothesis: |
(G +Ky)(G + Kz )+ (Gy + Ky ){(Gy +1)+(Ky, +1)}
= X, X, Xy {(Gy +1)+(Kyy +1)}
C=Countof X eK, M-C=Countof X eG, M,=IDX(BS)-C
PYL=[PY,K,, +1], BSL=BASE(PY1) (2.1.1)

SUM (N, PY1)—2213 55" 1y« DISUM (n, PY)
: P-1
" Lo XXy (Mi —JL—D)

P-1

:Z[Xl"'XMMi[Mi +J+ X, -+ X, (PH (PY)“LMi)[PM_ilD

=T X, X, (IDX(BS)—C)[J;lJ

S X, Xy (PH (pv)+|Dx(Bs)—c)(PM‘_1j

=3 X, Xy (G +1)—C)(Ji_+1J
# 3 XXy (Kyy +2)+(PM (BS)_l)_C)(PM_il]
=3 Xy Xy, (GMH—C)[IDX(ES_;_CHJ
Y X, Ky (Kot + M —C)(IDX Eg_sl)_cj
S X, Xy, (GM+1—C)[|DX .

(
+ZX1”'XM(KM+1+M_C)( i~ )j
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1*) is obvious.
M, change form IDX(BS),---,IDX(BS)—M to
IDX (BS)+1,++,IDX (BS)-M = IDX (BS1), -, IDX (BS1)—(M +1)
2%) proved
P-1=N-PH(PY)-1=N-(K,, - IDX (BS)+PM (BS))-1
=N —{(Ky +1)—(IDX (BS)+1)+(PM (BS)+1)}
=N —(Ky,, — IDX (BS1)+PM (BS1)) = N - PH (PY1)

3%) proved
P-1 .

Xy Xy (Gyy —C) IDX (BSL)-C — 4*%)5.1%)

P-1

X, Xy, (GM”_C){le(Bm)—(CH)] — 4*)5.2%)

4*) 5%) proved
PY1= [PY, Ky > Ky +1], BS1= BASE(PYl) (2.1.2)

SUM (N,PY1)—2 53"y SUM (n-K,, , + Ky +1,PY)

§ n—Ky., +Ky +1-PH (PY
n—Ky,, + Ky +1-(K,, —IDX (BS)+PM (BS))
_ n>< X, M+1 M M
SIRIED) "
Sy X, n—(KM+1—IDX(BS)+PM(BS)—l)j
=0 Mi

zzx1-~~XM(Mi+1)[MiPJlr2j

P1
+3 X, X (KM+1—IDX(BS)+M +Mi)(M< +J

=> X, X, (IDX (B C+1)M J

P
X, M-C)
+Z M+1+ M +]
= 2% X (G - )[IDX(BS C+2J
¥ 2 X Xy (K M =C [le C+1J

=3 X, Xy (Gua C)[|Dx(881)—Cj

P1
+ZX1"'XM (KM+1+M _C)[IDX(BS]-)_(C+1)J

1*) is obvious.
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M; change form IDX (BS),--+,IDX (BS)-M to
IDX (BS)+2,---,IDX (BS)—M +1 = IDX (BS1),---, IDX (BS1)—(M +1)
2%) proved

P1=N—{K,, —(IDX (BS)+2)+(PM (BS)+1)} = N —PH (PY1)

3%) proved

P1

Xi"'x""(GM“_C)[IDX(BSQ—C)_) 4%) 5.1%)

P1

Xy Xy (Ky g + M _C){IDX (BS1)—(C+1)

J — 4%)5.2%)

4*) 5%) proved
q.e.d.
Example 2.1:

(3+K,)(5+K,)(7+K;)
=3x5x7+3x5x K, +3x K, x7+3xK, xK, +K; x5x7
+ K x5x Ky + K x K, x7+K; x K, xK,

P=N-K;+IDX([1357])-PM([1,35,7]) =N -K,+8—-4=N-K;+4

SUM (N,[1K, 23K, 2K, +2,K, > K, +2])

:3x5x7(:J+3x5x(K3+2)(5]+SX(K2+Qx(7—n(sj
+3X(K2+nx(K3+Q(5j+¢gx(s—nx(7—g[:)
+K1x(5-1)X(K3+1){E]+le sz(7_2)(2j

p
+K1><K2><K3[5J

2.2. SUM(N,[1,2,--,n,K; 2n+2,+,Ky])

PY =[12,3,-,n,K 2n+2,---, K, ],
BASE (PY)=BS =[1,2,3,---,n,G;,+-,Gy, |

P
1%) SUM(N,PY):ZA(M J 2" items in total.

2*) M, = IDX (BS), IDX (BS)-1,---,IDX (BS)-M
3*) P=N-K,+IDX(BS)-(M+1)=N—(K,,—PB(PY)-1)=N—-PH (PY)
Use the form (G, +K,)(G, +K,)--(Gy + Ky ) =D X; X, - Xy, .
4*) M, = IDX (BS)—(Count of X e K)
5%) A =nlx (Sameas2.1)
Example 2.2:
(5+K,)(7+K,)=5x7+5xK, +K, x7+K; xK,,
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P=N-K,+IDX([12,35,7])-3=N-K,+5

SUM (N,[1,2,3 K, 25K, 2K, +2])

:3!{5X7(:j+5x(K2 +1)[:j+ le(7_1)m+ KlKZ(Z]}

2.3. The Meaning of the Expansion of SUM (N, PY)
PY =[1K,,---,Ky, ], anltem ={begin K, +E,,--- K, +E }
(product of an item) = beginx (K, + E,)---(K,, +E,, ) =beginx Y F,---F,
F =E (means F=E)or F =K,

SUM (N, PY)=>"product=>"> beginxF,---F, (2.3.1%)
Define 2.3. SUM_K(N,PY,PF =FF,---F, ) =) ltems in (2.3.1*) with the
same PF
Example 2.3:

SUM (N,[LK, 23K, > K, +2])

N-K,+3 N-K,+3
=15 +3(K, +1)
6
N-K,+3 +3
+4K, +K,K
5
N-K,+3 N-K,+3 N-K,+3
=15 6 +3 +3K,
N-K,+3 N-K,+3
+4K, + KK,
5 4

=3 Y nx(K + B )(K, +Eyy)

then can prove

SUM_K (N, PY,EE)

N-K,+3 N-K,+3
=Y begin*E E,, =15 2723 2T
all items 1i =2, 6 5

N-K,+3
SUM_K(N,PY,KlE)=za”itemsbegin*KlEZJ:4Kl( 52 ]

N-K,+3
SUM_K(N,PY,EKZ)=Za"itemsbegin*ElyiK2:SKZ( 52 J

N-K,+3
SUM_K(N,PY, Kle) :Za” ioms DEQIN * K K, = Kle[ 42 j

SUM (N,PY) =TT (X, +Di)(|\;)ij,
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,X; €G,D; =countof {X,-- X, ,} eK

} (2.3.2%)
D}, X; eK,D, =countof {X,---X,;} G

X, +D, ={{G‘ P

{Ki}+

{
Theorem 2.3 SUM_K(N,PY,PF)=)Items in (2.3.2*) expand by {},
e

factors has the same { F

o)

0,F eK, X, eG

Ki,F €K, X, eK
Y =
' |G, -D,,F =E,X,; €G,D, =countof {---X;,} eK

D.,F =E, X, eK,D, =countof {--X,,} G

(2.3.3%)

P=N-PH(PY), M, = IDX(BS)-(Countof X eK)
[Proof]
Suppose SUM_K(N,PY,PZ)=3"T]"Y, [ j P=N-PH(PY).
PY1=[PY, K, ], C=Countof X eK,
M -C =Countof X eG, M, =IDX(BS)-C
When K, =K, +1

SUM (N, PY1)—2212 55" "nx D'SUM (n, PY)
— > " nxD'SUM_K (n,PY,PF)

DI 3 A M S
ST 0 o (e
RTINS o (a0
+2ITY Mu(,Dx(Bspli(cu)]

=SUM_K (N,PYL[PF,E])+SUM_K (N, PYL[PF,K,,])
P-1=N-PH(PY1) > (2.3.3%)

SUM_K (N,PYL[PF,K,,.,]) = X TT, YK M”[IDX(Bspl)l(C+1)J_)(2'3'3*)

SUM_K (N, PYL[PF,E])

P-1
= ZI1EY (G- )[le(Bﬂ)—CJ
P-1
+ZH.1 Yi (M C)[|Dx(581) (C+1)j_> (233
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When K,,,, >K, +1
SUM (N,PY1)—225 3" 'nx SUM (n=K,,., + K,y +1PY)
—>Z “nxSUM K(n KM+1+K +1 PY,PF)

-SITA G )[.Dx(gig_c]
FETTEN0-0) o sy
+2ITY M+1[|DX(BSI;)1_(C+1)]

=SUM_K (N, PYL[PF,E])+SUM_K(N,PYL[PF,K,,])

PL=N-PH (PY1) - (2.3.3%)

SUM_K (N,PYL[PF,K,,..]) = X TT, YK M”[IDX(BST)l—(C+1)J_)(2'3'3*)

SUM_K (N,PYL[PF,E])
P1
= XIT5Y (Gua - )[IDX(BM)—CJ

P1

AU _C)(le (BS1)-(C +1)j - (2.3.5%)

q.e.d.
23.1) SUM_K(N,PY =[1,2,---,n,K; 2n+2,---,K,,],PF) has the similar
conclusions.
23.2) SUM_K(N,PY =[1,2,--,n,K; 2n+2,, Ky |, KKy Ky, ),
N —PH (PY
BS = BASE (PY)=MIN(PY) (PY)
IDX (BS)-
—PH(PY)-1
—MIN(PY) Y " (PY)
IDX (BS)-M -1
4(n=PH(PY)-1
=MIN(PY)Y "
(PY)2ns PB(BS)+1 j
4(n-PH(PY)-1
=MIN(PY)Y "
(PY) 2 PB(PY)+1 j

=MIN (PY)Y" " litems in SUM (n+1,PY )|

3. A Theorem of Ring
PY =[LK,>3,K, ], BASE(PY)=BS=[1G,, Gy ]

SUM(N,PY):ZA[;J,

DOI: 10.4236/0alib.1106719 10 Open Access Library Journal
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When PY= BS, SUM(N,PY)= MIN(BS)(

N

IDX (BS )]

This inspired us:

In the form (G, +K;)(G,+K,)--«(Gy +Ky ), K; =G — MIN(BS)|> A
(M, is same).

Definition 3.1:

S,{K;}eRing; K;= K;» Ki<K;j, K;>K; areallowed.

Choice Nfrom (K K,,-- K, ), R=R R,

R, =+1 Indicates that K, was selected, R, =-1 Indicates that K; was un-

selected,

F(N,M,RK,S)=]T"(K+D,),

-mS, R, =-1,m =count of {K,,---,K,_,} selected
+mS, R, =+1,m = count of {K,---,K;_;} unselected

When S=1, abbreviated as F(N,M,R,K)

Definition 3.2:

H(N,,N,,K,S)=> F(N;,N,+N,,R,K,S), Sum traverses all V;-Choice
of K

Theorem 3.1: H(Nl,NZ,K,S):[ )Kl-uKM, M=N,+N,

Nl’ N2
[Proof]
When N; =0 or N, =0, itis obvious.

H(11,K,S)=select K +select K,
=unselect K, +select K,
=K (K, =S)+K, (K, +S)
=2K K,

M
Suppose H (1, M —1,K,S)=[ L jKlu-KM

H(LM,K,S)
=select K, , + unselect K, ,,
=H(0O,M,K,S)(Ky, +MS)+H (LM -1 K,S)(K,,,,-S)

M M
:( 0 ]Kl”'KM (KM+1+MS)+( 1 ]Kl"'KM (KM+1_S)

¥ ] e e

M +1
= 1 Ky Ky Ky

— H(LN,,K,S) holds — Symmetry — H(N,,1K,S) holds

M
Suppose H (N, M —Nl,K,S):[N jKl.--K,\,I
1
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H(N,+1,M -N,,K,S) =select K, , +unselect K, ,
=H(N;,M =N, K,S)(Ky, +(M=N,)$S)
+H(N,+LM =N, -1 K, S)(Ky., —(N; +1)S)

:(m]Kl---KM (K +(M=Ny)S)

M
+(N +JK1--~KM(KM+1—(N1+1)S)
1

:{(Lﬂlj{NﬂJ}Kr'KMﬂ
+{(M —Nl)['\l\l/llj—(Nlﬁul)(NT/LJ}sxKl...KM+1

M +1
= N. +1 Ky Ky Ky
1

— H(N,,N,,K,S) holds
q.e.d.
Example 3.1: {Kl, K,, K3} = {A, B,C}
H(1,2,K)=select A+select B+select C
=A(B-1)(C-1)+A(B+1)(C-1)+ AB(C+2)
—3ABC
H (2,1,K)=select AB +select BC +select AC
= AB(C—2)+A(B+1)(C+1)+A(B-1)(C+1)
=3ABC
Definition 3.3:
K, come from g sources: Sl,Sz,u-,Sq, K, e Sj indicates K; come from 5}
diff (K;, K, ) = diff (K, €S,,K; €8,) =diff (a,b) , diff (a,b)=S , (a=zb )
diff (a,b) = —diff (b,a); diff (a,a)=0 then can change related parts of de-

finition 3.1 to

[T!4(K+D,).D; = X diff (K;,K;

j<i
and define H (Nl,Nz,---,Nq,K,S)
Theorem 3.2 H (Nl’NZ""’Nq'K'S)ZENhNz,-..,quKl.“KM’

M=N;+N,+--+ Nq
[Proof]
Only need to prove $=1, and specify diff (a,b)=1,(a<b)
H(N;, N, K)=>Item, K;e{S,,S,}.An item has M factors,
Choice N, factors, K in these factors, K; €S, It is called invariant factor{F}.
Others are called variable factors { V}
L, +L, = N,, choice L, factorsin {1} to ,, L; to
By definition, H(L,,L;,V)=> {(L,,L;)—Choice of V|
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Z(H{F}XZ{(szLg)_ChOiCE ofv})
ST () - X TR

N, (N, M
= L ]them_(Lz,LJKNl.NJKl Ky

L,
= M KKy, =H(N,,L K
_(N1'L21L3] 177" = ( 11 2'L3' )

and items gives all (V,, Z,, L;)-Choice of K.
Prove Z(H{ F}x Z{(Lz, L, ) - Choice of V}) satisfies the definition of
H (le"', K)
Let Item = H:(Ki +D;), (anitem changed)= H.Ml(H +E), K, =H,
Al=Count of {K,,---,K;;} €S,, A2=Countof {K,-- ,K,_l}
B1=Count of {---,H, ;} €S, B2=_Count of {-- ,H,l}esz,
B3=Countof {---,H_,} €S,
— Al=B1, A2=B2+B3
K., €S, —>H.,eS >D,=A2=i—Al=i-Bl=B2+B3=E,,
— The invariant factors match the definition

K., €S,,H,, €8, —tminoMlb¥) , F _ p 4 B3=—-Al+B3=-Bl+B3

definition of H(N,Lp,L3,V)

Match the definition

K., €S, H, e85, —tminoMlb¥) , p _p _B2=—Al-B2=-Bl-B2

definition of H(N,Lp,L3.V)

> Match the definition

— Match the definition of H(Nl,NZ,NS,K) _fecursion o,

q.e.d.
Example 3.2 {Kl, K,, K3} = {A, B,C}

H(L2,K)=A(B-1)(C-1)+A(B+1)(C-1)+AB(C+2)=3ABC
A(B-1)(C-1)eS;S,S, > {F} ={A} > A{(B-1)(C-2)+(B-1)C}
— A(B-1)(C-2)+A(B-1)C €S5,S,5,+5,S;S,
A(B+1)(C-1)eS,8,S, > {F} ={B+1} > (B+1){A(C-2)+AC}
— A(B+1)(C-2)+A(B+1)C€S,S,S,+S,S;S,
AB(C+2)€eS,S,S, = {F} ={C+2} > (C+2){A(B-1)+A(B+1)}
— A(B-1)(C+2)+A(B+1)(C+2)eS,S,S, +S;S,S,
H(2,1,K)=AB(C-2)+A(B+1)(C+1)+A(B-1)(C+1)=3ABC
AB(C-2)eS;S;S, > {F}={C-2} »(C-2){A(B-1)+A(B+1)}
— A(B-1)(C-2)+A(B+1)(C-2)€S,S,S, +5,S,S,
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A(B+1)(C+1)€S,S,S, - {F} ={A} > A{(B+1)C+(B+1)(C+2)}
— A(B+1)C+A(B+1)(C+2)€S,S,S, +S,S,5,
A(B-1)(C+1)€S;S,S, > {F}={B-1} > (B-1){AC+A(C+2)}
— A(B-1)C+A(B-1)(C+2)eS;S,S, +5,S,S,

H(L1LK)=A(B-1)(C-2)+A(B-1)C+A(B+1)(C-2)
+A(B+1)C+A(B-1)(C+2)+A(B+1)(C+2)

=6ABC
3.1) (K, K,,-+,Ky ) is permutable in H(N N,, -,Nq,K,S)
3.2) H(N, N, N, K, S)=TT" (K +D)
— H(N,,N _1,--~,N1,|<,s) (K -D))

3.3) In the section 2, SUM (N,PY )= ZA‘( ]

A is generated by the form (G,+K,)(G,+K,)--<(Gy +K,,). It can be
understood asgenerated by 2-SET: {G;}, {K;}.
If Ki=J,+J,;++3,(3,;>0,J,;,=0,J,;, <0 areallowed),

sum (N,PY):ZBi[,\:i]

B, can be understood asgenerated by (X+ 1)-SET: {G,},{J;}.{J,},--.{JIx}

34) Ki=J;;+J,;+:-+J,;, Theorem 2.3 has the similar promotion.

X,i?

4. Conclusion

. N N N +1 . .
Review the whole process, + = — Basic Shapes in [1]
M M +1 M +1

— More Shapes in this article.
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